S
(<D}
O,
S 1
o=y
©
0
<
X
QI—
=
z
1071
1072
2
(0))]
=
@)
2 1
je)
S
e
0.5

7000 GeV pp Underlying Event

[ I | I I I | I ]
Sum(p,) vs pT (TRNS) (pT(Kg) > 0.6 GeV)
-~ m cMs =
- ¢ Sherpa 2.1.1 default 7
u
— m N [ ] u , ’ ...................... N —]
= ..=’ PR ’ ...................... Tt ACULIEIRRE, SR .
i .
¢
L m |
¢
.y _
.
— m Q _
¢
LE —
-4 7
C, N
— | | | | | | | | | ]
: T T T | T T T | T I:
o b A I y g
I i
14
— .’ pu—
4
RAX | . . . |
20 40

leading jet P, [GeV]

Rivet 3.1.0, 7.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


